VISTA DA A VISTA DA B
120.0000°

139

Tappo N°7 I
o
306340807 » ¢ Ol\o
Vite 7°C E /. L.
M5 x 8 3 Vit M8x20
265

Flangia tipo 748
ruotata

Staffa corpo tipo
A3 (Alluminio)

Cuarnizione in
gomma per staffa

S Vit M8 x 20

Cuarnizione LGCR/HPI
tipo B

3 Dadi M8
Slangiatt

Scala approx. 7 : 6

Quote realt in millimetrt

AR7. 68535 HONDA CBR 900 RR (96— '99)
BOLT—0ON <<BIC>> QOuvale Alluminio
OMOLOGATO »EVOLUTION 1T’



